
tie = $5.38

Name:

What is the total cost of five milk shakes and two 
hamburgers?

1

Date:

Math Challenge
Knock-Knock.  Who's there?   Philip.   Philip who?   Fill up my glass please.

Complete the Activity.

copyright cybersleuth-kids.com Score:

ice cream cone = $1.63
cola = $1.06 shirt = $8.31
milk shake = $2.12 hamburger = $2.75
order of French-fries = $0.94 taco = $2.00

2 What is the total cost of an order of French-fries, a cola, 
and a tie?

3 What is the total cost of three ties and five colas?

4 What is the total cost of an ice cream cone, a shirt, a milk 
shake, and a tie?

5 What is the total cost of five orders of French-fries?

6 What is the total cost of an ice cream cone and a 
hamburger?

7 What is the total cost of two shirts, five orders of 
French-fries, and five colas?

8 What is the total cost of a shirt, an ice cream cone, a milk 
shake, and a cola?

9 What is the total cost of two ice cream cones, four 
hamburgers, and two colas?

10 What is the total cost of a tie, an ice cream cone, and an 
order of French-fries?


